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1. The volume of the solid obtained by rotating about the z-axis, the region bounded
byz+y=3,z=4—(y—1)%is
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11. The volume of the solid obtained by rotating the region, in the first quadrant,
bounded by y =z, y =

x
1523 about z = —1, is given by:

(a) 21r x+1)( ) (correct)
+1) |z~ X—
z ( 1+:c3) IAQK §>
(c) 21r/ (x—1) ( ) )«—\(x ., x@>
(d)frfo(z+1)(l+x3—x) dz

)(—- =
(e)ﬁf_ll(-x—1)(2—“"—x)dm K=o & X:Q/\}

= Z’ng Q('\Q (\ﬁ:}(s *‘X\ QX

12. If the fraction can be decomposed into two subfractions:
3 +9z—22-9

A andB$+C,thenK+A+B+C=

z+ K :1:2:9 _ Jr ‘%?(_AYQ
Q0 0&q) N XA

(a') —2 (correct)

oo ( Orf’rB—O\ b= —
V- A x Q\) —\Q—\) —-«@




221, Math 102, Major Exam II Page 7 of 9 MASTER

> we X3 ' Xz JCQin_

+c (correct)

)
(a) 101n|:1:—3|—91n|:1:—2|+$_2

(b) 9In |z — 3| + 10In |z — 2| — —

T —2
9 r—3 5

(c) 1—0111 a:—2’+(:c—2)2+c

+c

1

——($_2)2+c
9
(—_2—)2+c

= B = 4 BB r-0) +C(3)

X ’z,.-—_--) C =G
X;}‘;> Q—:\OJ @‘\’B % %_"’1
\

14. iji—ldx= \ \O\V\\ﬁ—%\ O\\\v\\\ Z\—k'——* S0

(d) %ln|m—2|+5ln|:z:—3|+

10
() 31n|x_3|+—1n|x—2|+

\

|
2@+1) ¢
(b) tan~}(z? +1) — In|z| +¢

(c) 2tan~}(z) — %lm(::c2 +1)+c

(correct)

(a) tan™'(z) —

1
(d) tan }(z? +z+ 1) — 5(::2 +1)+c

(e) %ta.n'l(sc2 +1)—In|z®+z+1|+c

XX\ Xli‘r\ X :
D)™ @wz- Rt X ¢ R

%U\\Kﬂ\\ N — /LDQ%\D X C,




221, Math 102, Major Exam II Page 8 of 9 MASTER

15. /‘ °°__£da: converges to:  __ \ S QQX
LV = \\WA 6

T S
(a

E
(b)\/E A=
d) V2e
e) 2¢/e &J\/\_
S\Fc
t%aoie’ o 3/6 — /—Q
= -7 __,\

,___.——"

16. The Improper Integral f sin® z dz \ ‘i
— \\’\'\ <S\\
Pl N 7& C

(a) Diverges to 400 (correct)

e K oy
(d) Converges to %
¢) Diverges to i% ___SQ CQ@LX> 0Q K
___%}_d g\\&\&m}t _ % o @)_ﬁ@
ow \\\N\Q -4 > hﬂ) t@

(correct)




921, Math 102, Major Exam II £ Page 9 of 9 MASTER

e b § s

,_\r
(a) 3—% \ \ (correct)
®) 7 \\\f\f\ —L_‘\J‘QX:\ ( eX T
() oo T30 K3 AN
Q

(d) 3 +/e
@z L A X -
@Q;ﬁ"“‘\ (&)=t )]

18. f tan~(v/7) dz = o \ /q‘
(2) xtan‘l(ﬁ) - \/5 3 ta,n_l(\/f) ol - (correct)
(b) ztanlz — T4z +cC .
(c) (1+tan‘1(\/i)):n+%+c L&E _(:“R T—Bt::x

(d) tan~'(z) — zv/T + ¢ Q:tdtt :OQ](

\dc(e) @”\” 2( a9 tedt) Now
=N () =) Ju= At dv =Lt

-
zj T @dt = Leeqy O &

— ‘tLJ(Mj(“Q> _ml__ T\:\;@)ok% l+L
= () — it @




